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COMMERCE

(Auditing and Business Mathematics & Statistics)
[GENERAL ELECTIVE]
Paper : 111
Group : IIT
[SUPPLEMENTARY]
Full Marks : 100 Time : 3 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

Module-I and Module-II are to be answered in
separate Answer Scripts.

Module-I ¢ Module-II-497 Teq
v Tegei fodte 2@

MODULE-I
(Auditing)
(et =)
(Marks : 50)
(T ¢ @o)
1. Answer any four questions: 1x4=4
@I BTG eeas Ted wis ¢

1)  Give an example of a cash voucher.

G 9V STCHIET THIZAe 7e |
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Vi)

What is continuous audit?
giRaifes @ Sl e
Give an example of error of omission.

NGNS YT G GUIRA W€ |

Mention a type of organization where

statutory audit is done.

iz [l 9l & 93 @A DI A
R
Is audit compulsory for a sole proprietorship

firm?

gF TifFsNd sigaEs o G
LTS ISETE ?

What is sample check?
T 2w FIE A2

Answer any six questions: 2x6=12

@I 2B Aeed Teq i ¢

i)

What is Statutory Audit?

iz o 2

Explain the term 'Internal Control'.
Srepgdle e qi=el® i )

State two advantages of Interim Audit.
srege! farE uib gk @14

State two importance of Audit Programme.

gl OB v wwy @19
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Vi)

vii)

Give two examples of errors of Principle.
Aifesr® TR gt Trigel wie |

Why audit file is maintained?

Sl wizel o AN =

Write two advantages of Routine checking.

frnlifes #[AreE g gkl @14

viii) State two features of a valid voucher.

Answer any four questions:

(34 ST qib @MEy (@14 |
6x4=24

- oo 2ead Ted 7is ¢

i)

Compare between internal check and internal

control.

ISR DR DR S A S AR R D R VA RSISEAR]
el 4 |

Discuss the objectives of audit.

I Tomef S 59

What is routine checking? What are the
objects of routine checking?
fRrTs(Ifees #I 21 I 061 2 97 Srmfet 6 e
What are the advantages of an audit in a sole
proprietorship business?

CFIfeFEe FRAIE T kel 5 e
What is an audit file? What are the advantages

for maintaining it?
e Fize FIF A2 32 /2@ T &

Rl Aeal T
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Vi)

Answer any one question:

What are the features of a voucher?

ST (aEel 6 e
10x1=10

@@ @B At Ted wie ¢

i)

iii)

Distinguish between Continuous Audit and
Periodical Audit.

AT RoARfErs ¢ oRfige MR Swy oNdy
T |

Discuss a suitable system of Internal Check

relating to: 5+5

Fwfeike Emme Ee Toge Srered ks
QR I F9 ¢

a) Payment of wages

TGS &mie

b)  Stock
o A9y

Discuss the steps to be taken before the

commencement of audit work of the

following: 5+5
a) Sole Proprietorship Firm

G P
b)  Partnership Firm

AT A
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Module-1 and Module-II are to be answered in ii)  Fill in the gaps indicating '-' of the following
separate Answer Scripts. GP:
Module-I € Module-II-93 ¥&g e wriier 2ofon '~ Bt Zmef 4w
STl TR ferte 2| S
MODULE-II 80, —, —, 10, —
PART-1 1i1) Calculate the amount of an annuity of
(Business Mathematics) Rs.3,000 in 15 years allowing compound
A s
( ®) interest at 4l %.
(Marks : 25) 4
2 R
(s ,Q ) AR 4% 219 v@dfm T W 15 IONIF
5. Answer any one question: Ix1=1 4
@-FIE @FH At T wie ¢ S 3,000 S ARFE @ offsne fefy
R
1) Simplify:  {/x84/x6/x~*
3
. iv) Ifn =£ then find the value of
HAGS] 9 $ st lxe x* 2
1 NI+x +41-x
11) If yo<— and y=9 when x=2, find the value )
) x’ . Vi+x —+1-x
f y when x=3?
of y when x o NG
1 n=— 2, O«
ﬂﬁy“; QR x=2 2JE y=9 T, O I4 2
x=3, O y-E Jlq F9? /—1+X+ /—I_X-
6. Answer any three questions: 2x3=6 Lhx =yi=x
-3 A el 9

@I oo aos Tex wie ¢
i)  Calculate square root of 8—3+/7.
it el 32 8-37

v)  Arrange in ascending order:
T THEAPIE ASIE ¢

9, 20, 425
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Answer any three questions:

6x3=18

- foa® aris Tea wie ¢

i)

A man retires at the age of 60 years and his
employer gives him a pension of Rs.3,600 a
year paid in half-yearly instalments for the
rest of his life. If the expectation of his life
is taken to be 10 years and interest is @6%
per annum payable half-yearly, determine the
present value of his pension.

G & Yo I RET SR 27 F( IR ORI
e o AR GRER T PRI
(A IR 3,600 il w1 A1 ffere e
30| AW Te Jiew SRl SiRe 10 9997 &
OR T T TR wif Aifde [Ffete o Jma
R AT 6% T, ©IR] RE(E ORI (P TG
PQIREERIEEY

If the sum of p, q and r terms of an A.P. are

a, b, c respectively then show that

a b c
—(q-r)+—(r—-p)+—(p—q)=0

2 (q-r)+ 2(r-p)+ (o=

I @FT ST A9MfeF p, q GR 1 RS AWE
SR IAGEE a, b, ¢ T, @ @He @,

Sa=1)+2(e-p)+2(p-q)=0

[7] [Turn over]
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L 1
i) If x=(a+\/az+b3)3+(a—\/a2+b3)3 then

1v)

show that x’ +3bx—2a=0.
1 1
Tfr x:(a+\/az+b3)3+(al—\/e12+b3’)3 33

O @l F9 @ x +3bx—2a=0 |

Solve the system of equations by Cramer's
Rule

2x-z=1,2x+4y-z=1,x-8y—-3z=-2
FINE T AR TG F9 ¢
2x—-z=1,2x+4y-z=1,x-8y—-3z=-2

In what time will a sum of money double itself
at 10% compound interest, payable half-
yearly?  [log2=0.3010, log(1.05)=0.0212]
W R AT OE (MR 230 PO TN 10%0@ @
T W (I S W0 TAACS el 23032
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PART-II
(Statistics)
(GIELRII0))
(Marks : 25)
(N 2 @)
Answer any one question: Ix1=1
@~ @I Aeeie Ted 7l
1)  Define regression line.

afears= (Regression) (AR IS WG |
i1) Calculate the arithmatic mean of the
following data:
2,7,1,3,9
M @I 2,7, 1,3,9
Answer any three questions: 2x3=6
@Il foao asia Tex wie ¢
1)  Calculate the GM and H.M. of four numbers
3, 6, 24, 48.

3, 6, 24, 48 Wy HIAGA wrered ¢ 7 @i
o T 4|

i1)  Find the standard Deviation of the following

Distiribution:
fwfrie e @ TN SidETa I ST 91
4, 8, 10, 12, 16
[9] [Turn over]

10.
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111) Write short note on scatter diagram.
ffre oras Tom e Bl =12l

iv) Name the different methods of presentation

of statistical data.

Aifrecrs f[fen Toglei srmfowferm am @12 |
v)  Define with example : Ogive

TIZAPTE kel (@14 ¢ @ (IR ARPRAT @
Answer any three questions: 6x3=18
@I foas arsa Ted wie ¢
1)  Find the Median and Mode from the following

table:
S € TR e fefzholel
Age No. of Men
(I) (CIRCERIS)
20 - 25 5
25 - 30 70
30 - 35 100
35 - 40 180
40 - 45 150
45 - 50 120
50 - 55 70
55 - 60 60
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i1) Represent the following data by Circular or
Pie Chart Revenue of Govt. of India:

Source Rs. (in crores)
Customs 160
Excise 500
Income tax 330
Corporation tax 110
Other 100
Total 1,200

Tolale Aotz el i #Aig foras M=y
o 9 |

iii)) Calculate the appropriate measure of

disperson from data given below:

Salary
(weekly in Rs.): | less than 80 80-90 90-100 100-110
No. of labour: 12 18 36 50
110-120 120-130 | 130-140 |more than 140
51 45 20 8

TR eve oUF ALoe [gfon sifsmie fefz
4|

iv)  Two lines of regression are given by x+2y=5

and 2x+3y=8. Calculate the value of X,y
and r.

16(C)

[11]

[Turn over]

72l efes @l x+2y=5 @ 2x+3y=8 e
O£%X, 7 OR 1437 W 7 59|

v)  Calculate the coefficient of correlation
between supply and demand of an item for
ten year period as given below:

Year: 1987|1988 1989 1990| 1991 | 1992(1993|1994(1995| 1996
Supply: 125 | 160 | 164 | 174 | 155 170 | 165| 162 [ 172 | 175
Demand: | 115 | 125 | 192 | 190 | 165 174 | 124| 127 [ 152 | 169
@I 9 TRT W AT T are @A €
iz S s weEa we Ay 391
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